
Lösungen zum Lösungsturnier Andernach 2014
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5+8H#3 3.1;1.1;1.1
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2+6H#6
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7+10H#18
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8+7reci.H#15
(Grazer Hilfsmatt in 15)
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4+6HS#6.5
W

g7=Wesir (1:0),
I

d2,
U

h5=Zebra (2:3),
1

h6 h7=Antilope (3:4)
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1+1H=5 1.1;2.1. . .
Sentinelles
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7+12S#7 2 Lösungen
[illegale Stellung]



1
1.Sa5 Lf8 2.Se7 Ld5+ 3.Kb4 L×e7#
1.Sb4 Lf2 2.Se3 e×d3+ 3.Kc5 L×e3#
1.S×e5 La7 2.Sb6 e×d3+ 3.Kd4 L×b6#

2
1.– Lc4 2.K×g2 La6 3.Kf3 Lb7 4.De4+ L×e4#
1.– Kf4 2.Dc4+ K×g3 3.De4 Kh2 4.D×g2 L×g2#

3
1.Tc5+ Ke6 2.Kc3 Kd7 3.Kb4 Kc7 4.Ka5 Kb8 5.Kb6 Lc7#
1.Ke3 Lc5+ 2.Kf3 Lg1 3.Kg3 Lh2+ 4.Kh4 Kf4 5.Se3 Lg3#

4
1.Dg3 Ld3 2.Kf5 Kc3 3.Kg4 Kd2 4.c1=L+ Ke2 5.Le3 Kf1 6.Kf3 Le2#

5
10.K×f5 Lh2 11.Ke4 Lg1 12.h2! f5 13.h1=S Lh2 14.S×g3 Lg1 15.S×f5! ([15.Sh5?) Lh2 16.Sg7 f×g7
17.f6! (17.d5?/f5?) g8=D 18.f5 Dc4#

6
6.K×c4 Lg1 7.K×c5 Lh2 8.g1=L c4 9.L×f2+ K×f2 10.e1=L+ Ke3 11.L×g3 K×d3 12.Lc7 Le5 13.f2
Lb2 14.f1=D+ Kc3 15.D×c4# bzw. 15.Lb6 La3#

7
1.– 0-0! (1.– Tf8? 4.– Kf7??) 2.0-0-0 Tf1 3.Ld8! (3.Lc3? 5.– Kg7??) Th1 4.Tf1 Wf7 5.Kd1 Kg7 6.Ke1
Kg6 7.Tg1+ T×g1#

8
1.Kd6 [+sBd5] Kf7 2.Kd7 [+sBd6] Kg6 [+wBf7] 3.Kd8 [+sBd7] f8=T+ 4.Ke7 Tf4 5.Ke6 [+sBe7]
Td4 [+wBf4]=
1.– 2.Kc7 [+sBd6] Ke6 [+wBf7] 3.Kd8 [+sBc7] K×d5 [+wBe6] 4.Ke7 Kc6 [+wBd5] 5.Kd8 [+sBe7]
Kb7 [+wBc6]=

9
1.De4+ K×c4 2.Ld5+ K×b5 3.Dd3+?? c4!, aber in Andernach geht der Hauptplan trotzdem:

3.Lc6+ (Kc4? 4.Dc2+ L×c2#) Ka6 4.Lb7+ Kb5 5.Dc6+ Kc4 6.D×a4+ Kd3 7.Dc2+ L×c2#
1.Lc6! L 2.De6! 3.Ld5! 4.Dc6! 5.Le4+ K×c4 6.Dd5+ K×b5 7.Ld3+ L×d3#
(1.– g3 2.Df7∼ 3.Lg2∼ 4.Df3+ K×c4 5.Lf1+ d3 6.D×d3+ L×d3#)


